normalized X?

[ normalized x? probability |

chiz Chiz_prob
Entries 10353 Entries 10353
Mean 0.997 Mean 05335
Std Dev 0.6049 Std Dev 03118
IS | 0.03 -
hiz S prol

Entries 10364
_ | Mean 05323
Std Dev

+[Entes 10364

08088 0.025

Mean 0.9982
Std Dev

12 14 16 18 20 ...8.
X? Prob(x?)

T

< x2/ndf >

T

dp_Ip. > (%)

1.2 - [ === DQM_v0001_R000000001__Global__mkFitOLD__RECO
s DQM_V0001_R0O00000001_Global__mkFit100__RECO
— DQM V0001_R000000001__Global__mKkFit100tobtec_ RECO

Ratio

=

L o1 e
LN
—

T

sote o ST

22 TIT

0 2 3
TP n (PCA to beamline)

< x2/ ndf >
< X2/ ndf >

Ratio

107 1072

-1
AR(track, jeltS)

<op fp_> (%)




	Contents
	Page 1


